Solution for Assignment 10 (CEE 3804)
Problem 1:

Tasks 1, 2, 3, and 4:

i 53333333333 3Assignment 10 Problem 1$333333333333%%
2 $%%Task 1
3 $clear the workspace and close all the figures
Y i close all
5l clear
Bl clc
7
8 %Load United States map
9 = load usamap
10
11 $Load flight tracks data
12 — load flightTracks
13
14 $Make 3- dimentional plot of the U.S map
15 = figure
16 = plot3(uslon,uslat,elevation, '-b', 'linewidth',1.5)
2 = title('U.S. Map', 'FontSize', 20)
1§ = xlabel ('Longitude (degrees)','FontSize', 20)
19:= ylabel ('Latitude (degrees)','FontSize', 20)
20 — zlabel ('Elevation (m)','FontSize', 20)
23 == grid
22
23 - hold on
24
25 = number_ flights = length(flight);
26
27 $Make 3- dimentional plot of the flights
28 - [Jfor i=1: number flights
29
0= plot3(flight (i) .track.longitude_deg,flight (i) .track.latitude_deg, flight(1i).track.altitude m, '-")
31
32 - -end
33
34
1<
35
36 $Make 2- dimentional plot of the U.S map
%= figure
38 - plot(uslon,uslat, '-b', 'linewidth',1.5)
39 — title('U.S5. Map', 'FontSize', 20)
40 — xlabel ('Longitude (degrees) ', 'FontSize', 20)
41 - ylabel ('Latitude (degrees) ', 'FontSize', 20)
42 - grid
43
44 - hold on
45
46 $Make 2- dimentional plot of the flights
47 - [Jfor i=1: number_ flights
48 $plot the flights in different colors
49 - plot (flight (i) .track.longitude_deg, flight (i) .track.latitude_deg, '-')
50
51 — -end
52
53 $%%Task 2
54 $Make 2- dimentional plot of the U.S map
85 = figure
56: — plot (uslon,uslat, '-k', 'linewidth',1.5)
57 — title('Departure Flights vs Arrival Flights','FontSize', 20)
58 — xlabel ('Longitude (degrees) ', 'FontSize', 20)
59 — ylabel ('Latitude (degrees) ', 'FontSize', 20)
€0 — grid
€1
62 — hold on
€3
64 $Make 2- dimentional plot of the flights so that arrivals are depicted in red and departures in blue.
65 - [Jfor i=l:number flights
66 $logical comparison
67 — if flight(i).arrival departure == 'D'
€8 — pl = plot(flight(i).track.longitude_deg,flight (i).track.latitude_deg,'-b');
€9
70 — else %if logical comparioson is wrong.
L == p2 = plot(flight(i).track.longitude_deg, flight(i).track.latitude_deg,'-x');
72
73 end
74 - end
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hold off
$Make the legend
legend([pl p2], {'Departure’, 'Arrival’'})

$%3%Task 3

$Make 2- dimentional plot of the U.S map

figure

plot (uslon,uslat, '-k', 'linewidth',1.5)

title('Boeing 737-800 Departure Flights vs Boeing 737-800 Arrival Flights',|'FontSize',
xlabel ('Longitude (degrees) ', 'FontSize', 20)

vlabel ('Latitude (degrees)', 'FontSize', 20)

grid

hold on

$Make 2- dimentional plot of the flights operated by Boeing 737-800 so that| arrivals are depicted in red and departures in

[l for i=l:number_ flights

if ismember (flight (i) .aircraftType, 'B738")
if flight(i).arrival departure == 'D’

pl = plot(flight(i).track.longitude_deg, flight (i).track.latitude_deg,'-b')
else
p2 = plot(flight(i).track.longitude_deg,flight(i).track.latitude deg,'-x');

end
end

—-end
hold off

$Make the legend
legend([pl p2],{'Departure’, 'Arrival'})

20)




% Detect number of flights
noFlights = length(flight);
count = 0;

count2 = 0;

for i=1:noFlights

% Define two flag variables

departureFlag = strcmp(flight(i).arrival_departure,'D;
runway22LFlag = strcmp(flight(i).runwayName,'22L");

runway22L_departureFlag = departureFlag+runway22LFlag;

% Find departures on runway 22L

if runway22L_departureFlag == 2 % both conditions are met
count = count + 1;

end

% Find arrivals on runway 28C

arrivalFlag = strcmp(flight(i).arrival_departure,'A");
runway28CFlag = strcmp(flight(i).runwayName,'28C");

runway28C_arrivalFlag = arrivalFlag+runway28CFlag;

if runway28C_arrivalFlag == 2 % both conditions are met
count2 = count2 + 1;
‘end
end

There are 228 departures on Runway 22L
There are 425 arrivals on Runway 28C
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Task 3:

Departure Flights vs Arrival Flights
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Problem 2:

Task 1:

export_airport_runways
export_NC_public_air... o ¥10
— Location_id
|
. ID [2] / RunwayNames
Location_id ﬂ Length (ft)
Airport ID L Width (ft)
State RunwayMaterial
City
Airport_Type v
Task 2:
ﬁ Queryt \
export_airport_runways
- =
? 1D
= Location_id
RunwayNames
export_NC_public_air... Length [} il
Width (ft) v
T :
D
% Location_id &
Airport ID
State
City v
[ ]
Field: EI RunwayNames iID Length (ft) | Width (ft) State |
Table: | export_NC_public_air| export_airport_runwa export_airport_runwa export_airport_runwa export_airport_runwa export_NC_public_air|
Total: | Group By | Group By | Max | Group By Group By Group By
Sort: | |
Show: %] * %] %] ‘ %] %] ‘
Criteria: >4500 "NORTH CAROLINA"
or:




FAY
FAY
FBG
FQD
GSB
GSO
GSO
GWw
HBI
HFF
HFF
HKY
HNZ
HRJ
ItmM
ILtM
INT

Total

RunwayNames - { Length (ft) - ‘ Width (ft)

40685 5000
40654 5000
40875 4700
16/34 5498
40561 4502
16/34 8001
40717 5000
18L/36R 3676
18R/36L 10000
40685 7502
40717 5500
40717 5000
40685 6002
40561 4518
40843 7219
40561 6000
40685 5002
40685 5500
40654 6004
40717 5000
15/33 5001
40654 7709
40843 4301
40812 4650
40561 5000
40780 11760
14/32 6380
40685 10001
40685 5500
40622 5501
40654 5001
40875 4740
40717 6400
40717 5002
40685 4999
17/35 7004
40717 2016
15/33 6655
81

- State
150 NORTH CAROLINA
150 NORTH CAROLINA
75 NORTH CAROLINA
100 NORTH CAROLINA
100 NORTH CAROLINA
75 NORTH CAROLINA
150 NORTH CAROLINA
100 NORTH CAROLINA
150 NORTH CAROLINA
150 NORTH CAROLINA
150 NORTH CAROLINA
75 NORTH CAROLINA
75 NORTH CAROLINA
75 NORTH CAROLINA
150 NORTH CAROLINA
150 NORTH CAROLINA
100 NORTH CAROLINA
100 NORTH CAROLINA
100 NORTH CAROLINA
150 NORTH CAROLINA
100 NORTH CAROLINA
75 NORTH CAROLINA
150 NORTH CAROLINA
150 NORTH CAROLINA
100 NORTH CAROLINA
100 NORTH CAROLINA
300 NORTH CAROLINA
150 NORTH CAROLINA
150 NORTH CAROLINA
100 NORTH CAROLINA
100 NORTH CAROLINA
150 NORTH CAROLINA
150 NORTH CAROLINA
150 NORTH CAROLINA
97 NORTH CAROLINA
75 NORTH CAROLINA
150 NORTH CAROLINA
150 NORTH CAROLINA
150 NORTH CAROLINA

Record: 4+ 10f81

> ‘ % No Filter | [Search



Task 3:

|| 3 auen2\
export_sirport_runways
=
7o |
= Location_id
RunwayNames
Length (ft)
Width (rt) -
export_NC_public_air...
* =
o
9 Location_id L
Airport 1D
State
Cty >
]
Fleid: | ENE [ RunwayMatenal Length (ft) Airport ID | Runwaytlames D
Table: | export_NC_public_ain export_airport_runwa export_airport_runwa export_NC Jubn(_mr* expart_airport_runwa export_airport_runwa
Total | Group 8y Group By Group By Group By Group & Max
Sort:
Show: | %] (%] ' (5] | %] ' %]
Critena: [*NORTH CAROUNA"  “ASPH" #5500

on

= Queny2\

State - RunwayMaterial -~  Length(ft) - | AirportiD - | RunwayNames -

B\ ORTH CAROLIAST 5815 NC12 40780

| NORTH CAROLI ASPH 7553 NKT 05L/23R
~ NORTH CAROLI ASPH 8188 NKT 05R/23L
| NORTH CAROLI ASPH 8399 NKT 14R/32L
| NORTH CAROLI ASPH 8984 NKT 141/32R

| Total 5




Task 4:

T Queny3\
export_NC_public_air..
* S export_airport_runways
D ‘ pe =
® Location_id =) = %D
Airport ID S = Location.ia
State RunwayNames
City 4 Length (ft)
Width (ft) v
T T T T
Field: Lz‘ RunwayNames iID :Length (ft) \ Lat (deg) ;Lon (deg) | Land Area (acres) \
Table: export_NC_public_air| export_airport_runwal export_airport_runwa export_airport_runwa} export_NC_public_air| expon_NC_puin(_ain] export_NC_publi(_airﬂ
Total: |Group By \ Group By 1Max | Group By \ Group By | Group By | Group By |
Sort: | | | | |
Show: M [ M | ] M 1 M M | M |
Criteria: >25
or:
7 Quens
AirportID - RunwayName - | Length (ft) -| Lat(deg) -| Lon(deg) - LandArea(a -
q 40685 2650 36.09 78.37 30
| loine 18/36 2000 34.48 7758 100
|0INC 40622 3200 34.48 77.58 100
| |oane 16/34 2400 35.33 79.03 142
| loa7 15/33 3075 35.31 82.43 33
_‘ 14A 14/32 3147 35.61 80.90
_|15NC 14/32 1800 36.24 76.97 40
| 40748 4400 35.22 83.42
__|1NCco 16/34 2300 35.72 79.94 100
L) 18/36 1700 35.65 80.79 40
| |2aA 15/33 3003 35.32 83.21 147
| |28NC B1 1000 35.96 79.82 60
40748 1843 35.31 81.63 46
40593 3800 35.91 79.62 50
17/35 3500 34.89 78.84 28
40561 1350 35.34 78.15 55
18/36 1780 35.80 80.40 50
18/36 3000 36.17 77.40 32
02W/20W 2000 35.99 80.51 70
40593 2424 35.99 80.51 70
17/35 3063 35.94 79.69 70
18/36 2000 35.81 81.07 35
17/35 1200 35.96 78.17 150
40622 4001 35.39 79.79 65
40561 3000 36.02 80.52 50
40812 1500 34.89 80.37 72
|__|4anC1 H1 100 36.53 79.30 30
| |s7NC 40843 2265 35.43 83.46 30
_|59NC 40717 2200 36.10 79.56 150
| |sne2 18/36 1700 34.88 80.62 70
J 5NC3 13/31 2538 35.34 79.44 30
_{ swa 40654 3402 35.02 79.19 51
- |5wWs 16/34 3004 35.62 78.70 50
| |sws 40654 5000 35.70 79.50 92
__|64NC 40561 1800 35.90 79.77 60
| |enct 40622 3000 35.59 81.08 60
7\ 7INC 40654 3000 36.26 79.45 100
_‘ 7INC 40812 1000 36.26 79.45 100
| 78A 40593 1650 36.20 80.87 35
Total 171
|[ Record: 1 <T1of171 | » M+ [ = NoFiter | [Search





